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1. If“ARMY”is coded as “BSNZ”, then the
code word for “SOLDIER” is
“ARMY” 2 “BSNZ” e 8°& 3‘5_\; OQPE
“SOLDIER” & &%& %0
1. TMNEJFS 2. TPMEJFS
3. TPNFJIS 4. TPNEKFS

2. Ifthe word “QUESTION” is coded as
“NOITSEUQ”, then the word coded as
“NOISSIMMOC is.
“QUESTION”Q NOITSEUQ’ e 8°& 3?5_\2
oHpd> “NOISSIMMOC” 8 888 wond HKo.
1. COMMISSIONER 2. COMMITTEE

3.COMMITMENT  4.COMMISION
3. 1,3,6,10,15, 28,36

1.18 2.21 3.23 4.26
4. 1,4,10,28, 244

1.62 2.72 3.82 4.192
5. BE,CG,DI, ___,FM

1.El 2. EJ 3.EK  4.EL

Directions : In questions 6 and 7, choose the
odd one out.
KSE 1= 6 Bk 7 BHos® KoNITR) Jod
BoHo&.
6. 1.14 2.12 3.13 4.16
7.2.25 2.49 3.64 4.81
8. During 2014, the Independence Day of
India falls on which day of the week?
1. Tuesday 2. Thursday
3. Friday 4. Sunday
2014 & JoH&)Bo grEs 3EH RBo(Es &5’56‘3260
FE0E® & B Gotnod.
1. Sor¥gardo 2. H‘oaeB0o
3. HBzrBo 4. 8dB0
9. Ifa Cb=a?+b?- 3ab. forany number a and
b,then{l1 (-1)} {(-1) 1}=
O Qogygen @, beo 8o Ifa=b=a*+b*-3ab
ovaxd {1 (1)} {(-1) 1=

1.-25 2.25 3.5 4.-5

10. Three persons stand at the vertices of a
right-angled isosceles triangle ABC.IfBis
north to Aand C is east to A. then the direc
tion of C with respectto B is.

1. North - East 2. South - East

3. North - West 4. South - West

2.8 ©08S%s Dsobers (@gbeso  ABC &g

%U;@Eﬁtg oot SgBien devthandd. B &8 558

A8 agBorrde C I8 58 A8 Erdy) HIMI

08 P> B 659%;5 C ¢o& B%.

1. Sedgo 2. eabo 3. araindgo 4. I8
11.A=2,M=26,Z=52 BET=__

1.44 2.54 3.64 4.72
12.If sky is star, star is cloud, cloud is earth,

earth is tree and tree is book, where do the

birds fly?
% 1. cloud 2. sky
3. star 4. data in adequate

2.8 H0erRe® SKy eod& Star, Star @o& cloud,
cloud o8& earth, earth @08 tree £:6cso tree
08 book e @E@So. 0N DHED IEE MDD,
1. Shsvo 2. wseEo
3. $gBo 4. dEmaBo HBre S

13. In a certain code language, ‘234’ means
‘spark and fire’, 456 means ‘spark is cause’
and ‘258’ means ‘fire is effect’, which of the
following numerals is used for ‘cause’?
2.8 H0grRS® ‘234° o0& ‘spark and fire’, 456
®0& ‘spark is cause’ £dcin 258 o0& fire is
effect’ & ogo. wond Bob &St O ‘cause’
8560 8dchHzEam.
1.3 2.4 3.5 4.6

14. Pointing to a photograph, a man said, I
have no brother or sister but that man’s
father is my father’s son”. Whose photo
graph was it?
1. Hisown
3. His father’s

2. His son’s
4. His brother’s




2.8 DD Srddm, a8 KB vor v, T
5Bt T8 A6 B 0 & PoPS® K8 D)
Sol&, T° So|& BwE) LrTHs”. wond i’
JHBE?
1. @393 2. 0SIHITEHIG
3. 98 So&d 4. 03 BB

15. How many 4’s are there preceeded by 7 but
not followed by 3?

59321742697461328741325674395820187463

oot 7 éé:)), 3 T 0508058 ‘Aen A BoD.

1.3 2.4 3.5 4.6

16. Rohit is seventeenth from left end of a row of
29 boys and Karan is seventeenth from the
right end in the same row. How many boys
are there between them in the row?
29 £08 ePend Ko 2.8 SKNSE &2rE JEHIH
00& 29 & T HBAW H& I Dol E8H 175
. @oNd Slntal $05556° dod ok arentd
Eokh?

1.3 2.5 3.6 4. Datainadequate
(d&raedo HBPSE)
17.Inarow of boys, Ais 13th from the leftand D
IS 17th from the right. If in this row Ais 11th
from the right then what is the position of D

from the left?
2rend SEBSE LKLY 08 A 135 70 LB
HEID 08 D 178 e, & SE3® HEIH
2008 A 115 50 eond, NEDHID od
D a5,
1.6 2.7 3.10 4. 12

18. Six persons A, B, C, D, Eand F are
standing in a circle, not necessary in the
same order. B is between Fand C,Ais
between E and D. F is the left of D. Who is
betweenAand F.
6 0% KEen A, B, C, D, E 5080 F eo 28
HTeses08® JedHHram. F 5o Ceo iy
B, E 0800 D o gy Adasm D 8 28030 F
FOenQoé, A B F o g 65 58 258?
1.B 2.C 3.D 4. E

19.
1. 11 2.12 3.18 4.16
20. In a certain language X means , - means

X, means +and+ means -. Find the value.
(3-15 19)x8+6.
2.8 H8ePRSE, X @08
0805w + ©o& - @ @go 0NS e DoS?
(3-15 19)x8+6.
1.2 2.-2

, — ©0& X, ©0& +,

3.0 4.6




REASONING - | Key Sheet
1 |B|2 (DI |B [4|C |5|C
6 |B|7 [C[8 |CP |A [0O|B
11 (B (12( B|13| D 14(B 05(B
16 |A |17 B[18| C[19|A RO | A

REASONING - | Key Sheet
1 |B|2 (DI |B [4|C |5|C
6 |B|7 [C[8 |CP |A [0|B
11 (B (12( B|13| D [14(B A5(B
16 |A |17 B[18| C19|A RO | A

REASONING - | Key Sheet
1 |B|2 (DI |B [4|C |5|C
6 |B|7 [C[8 |CP |A [0O|B
11 (B (12( B|13| D [14(B [05(B
16 |A |17 B[18| C[19|A RO | A

REASONING - | Key Sheet
1 |B|2 (DI |B [4|C |5|C
6 |B|7 [C[8 |CP |A [0|B
11 (B (12( B|13| D [14(B [A5(B
16 |A |17 B[18| C19|A RO | A

REASONING - | Key Sheet
1 |B|2 (DI |B [4|C |5|C
6 |B|7 [C[8 |CP |A [0|B
11 (B (12( B|13| D [14|(B [05(B
16 |A |17 B[18| C[19|A RO | A

REASONING - | Key Sheet
1 |B|2 (DI |B [4|C |5|C
6 |B|7 [C[8 |CP |A [0|B
11 (B (12( B|13| D [14(B [05(B
16 |A |17 B[18| C[19|A RO | A

REASONING - | Key Sheet
1 |B|2 (D3 |B [4]|C |5|C
6 [B|7 [C|8 |CP |A [0|B
11 (B (12( B|13| D [14(B [A5(B
16 |A |17 B|18| C19|A RO | A

REASONING - | Key Sheet
1 |B|2 (DI |B [4|C |5|C
6 [B|7 [C|8 |CP |A [0O|B
11 (B (12( B|13| D [14|(B [A5(B
16 |A |17 B|18| C19|A RO | A

REASONING - | Key Sheet
1 |B|2 DI |B [4]|C |5|C
6 [B|7 [C|8 |CP |A [0|B
11 (B (12( B|13| D 4B [A5(B
16 |A |17 B|18| C19|A RO | A

REASONING - | Key Sheet
1 |B|2 (DI |B [4|C |5|C
6 [B|7 [C|8 |CP |A [0|B
11 (B (12( B|13| D [14(B [A5(B
16 |A |17 B|18| C[19|A RO | A

REASONING - | Key Sheet
1 |B|2 (DB |B [4|C |5|C
6 [B|7 [C|8 |CP |A [0O|B
11 (B (12( B|13| D [14(B [A5(B
16 |A |17 B|18| C19|A RO | A

REASONING - | Key Sheet
1 |B|2 DI |B [4]|C |5|C
6 [B|7 [C|8 |CP |A [0O|B
11 (B (12( B|13| D [14(B [A5(B
16 |A |17 B|18| C19|A RO | A




